

Research Article

On Gaussian Leonardo numbers

Dursun Taşçı*

Department of Mathematics, Faculty of Sciences, Gazi University, Ankara, Turkey

(Received: 5 December 2022. Received in revised form: 18 February 2023. Accepted: 1 March 2023. Published online: 8 March 2023.)

© 2023 the author. This is an open access article under the CC BY (International 4.0) license (www.creativecommons.org/licenses/by/4.0/).

Abstract

The Gaussian Leonardo sequence is a new sequence defined in this study. Some identities for this new sequence are given. Some relations among the Gaussian Fibonacci numbers, Gaussian Lucas numbers, and Gaussian Leonardo numbers are also proven. Moreover, a matrix representation of the Gaussian Leonardo numbers is obtained.

Keywords: Fibonacci numbers; Leonardo numbers; Gaussian Fibonacci numbers; Gaussian Lucas numbers; Gaussian Leonardo numbers.

2020 Mathematics Subject Classification: 11B83, 11B37, 11B39.

1. Introduction

Sequences of integers have an important role in various fields, including computer science, physics, cryptology, and coding theory. The Fibonacci and Lucas sequences are among the most famous sequences of integers. A Gaussian integer is a complex number whose both imaginary and real parts are integers. The Gaussian integers have been investigated by many researchers. Gaussian integers were first considered by Gauss in [6]. Horadam introduced the complex Fibonacci numbers in [7]. Jordan introduced Gaussian Fibonacci and Gaussian Lucas numbers in [8] and he extended some well-known relations about Fibonacci sequences to Gaussian Fibonacci numbers. Pethe and Horadam investigated generalized Gaussian Fibonacci numbers in [9]. Berzsenyi extended the concept of Fibonacci numbers to the complex plane [2]. Furthermore, Taşçı studied in [10–13] complex Fibonacci p numbers, Gaussian Padovan and Gaussian Pell-Padovan sequences, Gaussian Mersenne numbers, Gauss balancing numbers, and Gauss Lucas-balancing numbers.

Fibonacci and Lucas numbers are defined by recursively, for $n \geq 1$:

$$F_{n+1} = F_n + F_{n-1},$$

with the initial conditions $F_0 = 0, F_1 = 1$ and

$$L_{n+1} = L_n + L_{n-1},$$

with the initial conditions $L_0 = 2, L_1 = 1$, respectively (see [1]). Gaussian Fibonacci numbers GF_n are also defined recursively:

$$GF_n = GF_{n-1} + GF_{n-2}, \quad n \geq 2, \quad (1)$$

with the initial values $GF_0 = i, GF_1 = 1$. It is clear that these numbers are closely related to Fibonacci numbers:

$$GF_n = F_n + iF_{n-1}, \quad (2)$$

where $i = \sqrt{-1}$. Similarly, Gaussian Lucas numbers GL_n are defined recursively, for $n \geq 2$:

$$GL_n = GL_{n-1} + GL_{n-2}, \quad (3)$$

with the initial conditions $GL_0 = 2 + i, GL_1 = 1 + 2i$. Leonardo numbers are studied by Catarino and Burgers in [3–5]. They defined these numbers by the second order inhomogeneous recurrence relation:

$$Le_n = Le_{n-1} + Le_{n-2} + 1, \quad n \geq 2, \quad (4)$$

with the initial conditions $Le_0 = Le_1 = 1$. Also, these numbers can be defined as:

$$Le_{n+1} = 2Le_n - Le_{n-2}, \quad n \geq 2 \quad (5)$$

The purpose of the present study is to introduce Gaussian Leonardo numbers and investigate their properties.

*E-mail address: dtascci@gazi.edu.tr

2. Gaussian Leonardo numbers

We begin with the definition of the Gaussian Leonardo numbers.

Definition 2.1. Gaussian Leonardo numbers GLE_n are defined as

$$GLE_n = GLE_{n-1} + GLE_{n-2} + (1 + i), \quad n \geq 2, \quad (6)$$

with the initial conditions $GLE_0 = 1 - i$, $GLE_1 = 1 + i$. Some Gaussian Leonardo numbers are $1 - i, 1 + i, 3 + i, 5 + 3i, 9 + 5i, \dots$.

It is clear that Gaussian Leonardo numbers are closely related to Leonardo numbers:

$$GLE_n = Le_n + iLe_{n-1}, \quad (7)$$

where Le_n denotes the n -th Leonardo number.

Lemma 2.1. For $n \geq 1$, it holds that

$$GLE_{n+2} = 2GLE_{n+1} - GLE_{n-1}. \quad (8)$$

Proof. Using Equations (5) and (7), we have

$$\begin{aligned} GLE_{n+2} &= Le_{n+2} + iLe_{n+1} \\ &= 2Le_{n+1} - Le_{n-1} + i(2Le_n - Le_{n-2}) \\ &= 2(Le_{n+1} + iLe_n) - (Le_{n-1} + iLe_{n-2}) \\ &= 2GLE_{n+1} - GLE_{n-1}. \end{aligned}$$

□

The next result gives a relation between the Gaussian Leonardo and Gaussian Fibonacci numbers.

Theorem 2.1. For $n \geq 0$, the following identity holds

$$GLE_n = 2GF_{n+1} - (1 + i), \quad (9)$$

where GF_{n+1} denotes the $(n + 1)$ -th Gaussian Fibonacci number and GLE_n denotes the n -th Gaussian Leonardo number.

Proof. Consider Identities (2) and (7), together with

$$Le_n = 2F_{n+1} - 1,$$

where Le_n denotes the n -th Leonardo number and F_{n+1} denotes the $(n + 1)$ -th Fibonacci number. Then, we have

$$\begin{aligned} GLE_n &= Le_n + iLe_{n-1} \\ &= (2F_{n+1} - 1) + i(2F_n - 1) \\ &= 2(F_{n+1} + iF_n) - (1 + i) \\ &= 2GF_{n+1} - (1 + i). \end{aligned}$$

□

Lemma 2.2. For $n \geq 0$, it holds that $GLE_{n+1} - GLE_n = 2GF_n$.

Proof. In view of Theorem 2.1, we write

$$\begin{aligned} GLE_{n+1} - GLE_n &= [2GF_{n+2} - (1 + i)] - [2GF_{n+1} - (1 + i)] \\ &= 2(GF_{n+2} - GF_{n+1}) \\ &= 2GF_n. \end{aligned}$$

□

Lemma 2.3. For $n \geq 1$, the following identities hold:

(a). $GF_n = \frac{GL_{n-1} + GL_{n+1}}{5}$,

(b). $GL_n = GF_n + 2GF_{n-1}$,

where GF_n denotes n -th Gaussian Fibonacci number and GL_n denotes n -th Gaussian Lucas number.

Proof. We prove Part (a) by the induction on n . Part (b) can be proved in a similar way. For $n = 1$, we have

$$GF_1 = \frac{GL_0 + GL_2}{5} = \frac{2 - i + 3 + i}{5} = 1$$

and the induction starts. Now, suppose that the desired identity holds for every k satisfying $1 < k \leq n$. Using

$$GF_{n+1} = GF_n + GF_{n-1}$$

and the induction hypothesis, we have

$$\begin{aligned} GF_{n+1} &= GF_n + GF_{n-1} \\ &= \frac{GL_{n-1} + GL_{n+1}}{5} + \frac{GL_{n-2} + GL_n}{5} \\ &= \frac{1}{5} [(GL_{n-1} + GL_{n-2}) + (GL_{n+1} + GL_n)] \\ &= \frac{1}{5} (GL_n + GL_{n+2}). \end{aligned}$$

Thus, the required identity holds for $n + 1$, as desired. □

The next result gives relationships among Gaussian Leonardo, Gaussian Lucas and Gaussian Fibonacci numbers.

Theorem 2.2. For the n -th Gaussian Leonardo number GLE_n with $n \geq 0$, the following identities hold:

(a). $GLE_n = 2 \left(\frac{GL_n + GL_{n+2}}{5} \right) - (1 + i)$,

(b). $GLE_n = GL_{n+2} - GF_{n+2} - (1 + i)$.

Proof. The required identities follow directly from Theorem 2.1 and Lemma 2.2. □

Theorem 2.3. For $1 - 2x + x^3 \neq 0$, the generating function of the Gaussian Leonardo sequence is

$$\sum_{n=0}^{\infty} GLE_n x^n = \frac{(1 - i) + (-1 + 3i)x + (1 - i)x^2}{1 - 2x + x^3}.$$

Proof. Consider the Gaussian Leonardo sequence $\{GLE_n\}_{n=0}^{\infty}$ and let $g(x)$ be its generating function, i.e.,

$$g(x) = \sum_{n=0}^{\infty} GLE_n x^n.$$

By using Lemma 2.1 and the initial conditions of the Gaussian Leonardo sequence, we have

$$\begin{aligned} g(x) &= \sum_{n=0}^{\infty} GLE_n x^n = GLE_0 + GLE_1x + GLE_2x^2 + \sum_{n=3}^{\infty} GLE_n x^n \\ &= GLE_0 + GLE_1x + GLE_2x^2 + \sum_{n=3}^{\infty} (2GLE_{n-1} - GLE_{n-3}) x^n \\ &= GLE_0 + GLE_1x + GLE_2x^2 + 2x \sum_{n=3}^{\infty} GLE_{n-1}x^{n-1} - x^3 \sum_{n=3}^{\infty} GLE_{n-3}x^{n-3} \\ &= GLE_0 + GLE_1x + GLE_2x^2 + 2x \left(\sum_{n=0}^{\infty} GLE_n x^n - GLE_0 - GLE_1x \right) - x^3 \left(\sum_{n=0}^{\infty} GLE_n x^n \right) \\ &= GLE_0 + GLE_1x + GLE_2x^2 + 2x \sum_{n=0}^{\infty} GLE_n x^n - 2GLE_0x - 2GLE_1x^2 - x^3 \sum_{n=0}^{\infty} GLE_n x^n \end{aligned}$$

Therefore,

$$(1 - 2x + x^3) \sum_{n=0}^{\infty} GLe_n x^n = GLe_0 + (GLe_1 - 2GLe_0)x + (GLe_2 - 2GLe_1)x^2$$

and the result immediately follows. (We remark that $GLe_0 = 1 - i$, $GLe_1 = 1 + i$, and $GLe_2 = 3 + i$.) □

Theorem 2.4. Binet’s formula for the Gaussian Leonardo numbers is

$$GLe_n = 2 \frac{(\alpha^{n+1} - \beta^{n+1}) + i(\alpha^n - \beta^n)}{\alpha - \beta} - (1 + i),$$

with $n \geq 0$, where

$$\alpha = \frac{1 + \sqrt{5}}{2} \quad \text{and} \quad \beta = \frac{1 - \sqrt{5}}{2}.$$

Proof. We know that the Binet formula for the Fibonacci numbers is

$$F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}.$$

It is easily seen that

$$\begin{aligned} GF_n &= F_n + iF_{n-1} \\ &= \frac{\alpha^n - \beta^n}{\alpha - \beta} + i \frac{\alpha^{n-1} - \beta^{n-1}}{\alpha - \beta}. \end{aligned}$$

Now, using

$$GLe_n = 2GF_{n+1} - (1 + i),$$

we have

$$GLe_n = 2 \frac{(\alpha^{n+1} - \beta^{n+1}) + i(\alpha^n - \beta^n)}{\alpha - \beta} - (1 + i).$$

□

Theorem 2.5. Cassini’s Identity for the Gaussian Leonardo sequence is

$$GLe_{n+1}GLe_{n-1} - (GLe_n)^2 = (-1)^{n+1}(8 - 4i) + 2(1 + i)(2GF_{n+1} - GF_{n+2} - GF_n).$$

Proof. Considering Theorem 2.1 and using

$$GF_{n+1}GF_{n-1} - GF_n^2 = (-1)^n(2 - i),$$

we have

$$\begin{aligned} GLe_{n+1}GLe_{n-1} - (GLe_n)^2 &= [2GF_{n+2} - (1 + i)][2GF_n - (1 + i)] - [2GF_{n+1} - (1 + i)]^2 \\ &= 4GF_{n+2}GF_n - 2(1 + i)GF_{n+2} - 2(1 + i)GF_n + (1 + i)^2 \\ &\quad - 4(GF_{n+1})^2 + 4(1 + i)GF_{n+1} - (1 + i)^2 \\ &= 4 [GF_{n+2}GF_n - (GF_{n+1})^2] + 2(1 + i)(2GF_{n+1} - GF_{n+2} - GF_n) \\ &= (-1)^{n+1}(8 - 4i) + 2(1 + i)(2GF_{n+1} - GF_{n+2} - GF_n) \end{aligned}$$

and the result follows. □

The next result gives the sum formulae for the Gaussian Leonardo numbers.

Theorem 2.6. For $n \geq 0$, it holds that

$$\sum_{j=0}^n GLe_j = GLe_{n+2} - (n + 2)(1 + i).$$

Proof. If we consider

$$\sum_{j=0}^n GF_j = GF_{n+2} - 1$$

and Theorem 2.1, then we have

$$\begin{aligned} \sum_{j=0}^{\infty} GLe_j &= \sum_{j=0}^n (2GF_{j+1} - (1+i)) \\ &= 2 \sum_{j=0}^n GF_{j+1} - (n+1)(1+i) \\ &= 2 \left(\sum_{j=0}^{n+1} GF_j - GF_0 \right) - (n+1)(1+i) \\ &= 2(GF_{n+3} - 1 - i) - (n+1)(1+i) \\ &= 2GF_{n+3} - (1+i) - (1+i) - (n+1)(1+i) \\ &= 2GF_{n+3} - (1+i) - (n+2)(1+i) \\ &= 2GLe_{n+2} - (n+2)(1+i). \end{aligned}$$

□

Theorem 2.7. For $n \geq 0$, it holds that

$$\sum_{j=0}^n GLe_{2j} = GLe_{2n+1} - n - (n+2)i.$$

Proof. Using

$$\sum_{j=0}^n GF_j = GF_{n+2} - 1$$

and considering Theorem 2.1, we have

$$\begin{aligned} \sum_{j=0}^n GLe_{2j} &= \sum_{j=0}^n (2GF_{2j+1} - (1+i)) \\ &= 2 \sum_{j=0}^n GF_{2j+1} - (n+1)(1+i) \\ &= 2 \sum_{j=1}^{n+1} GF_{2j-1} - (n+1)(1+i) \\ &= 2(GF_{2n+2} - i) - (n+1)(1+i) \\ &= 2GF_{(2n+1)+1} - 2i - (n+1)(1+i) \\ &= GLe_{2n+1} - n - (n+2)i. \end{aligned}$$

□

Theorem 2.8. For $n \geq 0$, it holds that

$$\sum_{j=0}^n GLe_{2j+1} = GLe_{2n+2} - (n+2) - n i.$$

Proof. Using the relations between the Gaussian Leonardo and Gaussian Fibonacci numbers, we have

$$\begin{aligned}
 \sum_{j=0}^n GLe_{2j+1} &= \sum_{j=0}^n (2GF_{2j+2} - (1+i)) \\
 &= 2 \sum_{j=0}^n GF_{2j+2} - (n+1)(1+i) \\
 &= 2 \left(\sum_{j=0}^{n+1} GF_{2j} - i \right) - (n+1)(1+i) \\
 &= 2 \sum_{j=0}^{n+1} GF_{2j} - 2i - (n+1)(1+i) \\
 &= 2(GF_{2n+3} - 1 + i) - 2i - (n+1)(1+i) \\
 &= 2 GF_{(2n+2)+1} - 2 + 2i - 2i - (n+1)(1+i) \\
 &= 2 GF_{(2n+2)+1} - (1+i) - 2 - n(1+i) \\
 &= GLe_{2n+2} - (n+2) - n i
 \end{aligned}$$

and the proof is completed. □

Theorem 2.9. For $n \geq 0$, the following identities hold:

(a). $\sum_{j=0}^n (GLe_j + GF_j) = GLe_{n+2} + GF_{n+2} - (n+3) - (n+2)i,$

(b). $\sum_{j=0}^n (GLe_j + GL_j) = GLe_{n+2} + GL_{n+2} - (n+3) - (n+4)i.$

Proof. (a). Considering Theorem 2.6 and the identity

$$\sum_{j=0}^n GF_j = GF_{n+2} - 1,$$

the required identity is obtained.

(b). Using Theorem 2.6 and

$$\sum_{j=0}^n GL_j = GFL_{n+2} - (1+2i),$$

we get the desired result. □

Theorem 2.10. For $n \geq 1$, the following identity holds:

$$GLe_{-n} = (-1)^{n-1} i (GLe_{n-1} + 1 - i) - (1+i).$$

Proof. Using Theorem 2.1 and

$$GF_{-n} = (-1)^n i GF_{n+1},$$

we write

$$\begin{aligned}
 GLe_{-n} &= 2GF_{-n+1} - (1+i) \\
 &= 2(-1)^{n-1} i GF_n - (1+i) \\
 &= (-1)^{n-1} i 2GF_n - (1+i) \\
 &= (-1)^{n-1} i (GLe_{n-1} + 1 + i) - (1+i).
 \end{aligned}$$

□

Next, we give a matrix representation of the Gaussian Leonardo numbers.

Theorem 2.11. *Let n be a positive integer and let GLE_n be the n -th Gaussian Leonardo number. If*

$$Q = \begin{bmatrix} 2 & 1 & 0 \\ 0 & 0 & 1 \\ -1 & 0 & 0 \end{bmatrix}, \quad K = \begin{bmatrix} GLe_3 & GLe_2 & GLe_1 \\ GLe_2 & GLe_1 & GLe_0 \\ GLe_1 & GLe_0 & GLe_{-1} \end{bmatrix}, \quad \text{and} \quad D_n = \begin{bmatrix} GLe_{n+3} & GLe_{n+2} & GLe_{n+1} \\ GLe_{n+2} & GLe_{n+1} & GLe_n \\ GLe_{n+1} & GLe_n & GLe_{n-1} \end{bmatrix},$$

then

$$KQ^n = D_n. \tag{10}$$

Proof. We prove the result by the induction on n . For $n = 1$, we have

$$\begin{aligned} KQ &= \begin{bmatrix} GLe_3 & GLe_2 & GLe_1 \\ GLe_2 & GLe_1 & GLe_0 \\ GLe_1 & GLe_0 & GLe_{-1} \end{bmatrix} \begin{bmatrix} 2 & 1 & 0 \\ 0 & 0 & 1 \\ -1 & 0 & 0 \end{bmatrix} \\ &= \begin{bmatrix} 2GLE_3 - GLe_1 & GLe_3 & GLe_2 \\ 2GLE_2 - GLe_0 & GLe_2 & GLe_1 \\ 2GLE_1 - GLe_{-1} & GLe_1 & GLe_0 \end{bmatrix} \\ &= \begin{bmatrix} GLe_4 & GLe_3 & GLe_2 \\ GLe_3 & GLe_2 & GLe_1 \\ GLe_2 & GLe_1 & GLe_0 \end{bmatrix} \\ &= D_1. \end{aligned}$$

Thus, Equation (10) holds for $n = 1$. Now, suppose that Equation (10) holds for every k satisfying $1 < k \leq n$. We prove that Equation (10) remains valid when $k = n + 1$. Note that

$$\begin{aligned} KQ^{n+1} &= KQ^n \cdot Q \\ &= \begin{bmatrix} GLe_{n+3} & GLe_{n+2} & GLe_{n+1} \\ GLe_{n+2} & GLe_{n+1} & GLe_n \\ GLe_{n+1} & GLe_n & GLe_{n-1} \end{bmatrix} \begin{bmatrix} 2 & 1 & 0 \\ 0 & 0 & 1 \\ -1 & 0 & 0 \end{bmatrix} \\ &= \begin{bmatrix} 2GLE_{n+3} - GLe_{n+1} & GLe_{n+3} & GLe_{n+2} \\ 2GLE_{n+2} - GLe_n & GLe_{n+2} & GLe_{n+1} \\ 2GLE_{n+1} - GLe_{n-1} & GLe_{n+1} & GLe_n \end{bmatrix} \\ &= \begin{bmatrix} GLe_{n+4} & GLe_{n+3} & GLe_{n+2} \\ GLe_{n+3} & GLe_{n+2} & GLe_{n+1} \\ GLe_{n+2} & GLe_{n+1} & GLe_n \end{bmatrix} \\ &= D_n, \end{aligned}$$

and thus the result is verified. □

Acknowledgement

The author would like to thank the referees for their useful comments and valuable suggestions.

References

- [1] K. T. Atanassov, V. Atanassova, A. G. Shanon, J. C. Turner, *New Visual Perspectives of Fibonacci Numbers*, World Scientific, Singapore, 2002.
- [2] G. Berzsenyi, Gaussian Fibonacci numbers, *Fibonacci Quart.* **15** (1977) 233–236.
- [3] P. Catarino, A. Borges, A note on Gaussian modified Pell numbers, *J. Inf. Optim. Sci.* **39** (2018) 1363–1371.
- [4] P. Catarino, A. Borges, A note on incomplete Leonardo numbers, *Integers* **20** (2020) #A43.
- [5] P. Catarino, A. Borges, On Leonardo numbers, *Acta Math. Univ. Comenian.* **89** (2020) 75–86.
- [6] C. Gauss, *Theoria residuorum biquadraticorum, Commentario Prima* (1828) [Werke, Vol. II, pp. 65–92].
- [7] A. F. Horadam, Complex Fibonacci numbers and Fibonacci quaternions, *Amer. Math. Monthly* **70** (1969) 289–291.
- [8] J. H. Jordan, Gaussian Fibonacci and Lucas numbers, *Fibonacci Quart.* **3** (1965) 315–318.
- [9] S. Pethe, A. F. Horadam, Generalized Gaussian Fibonacci numbers, *Bull. Aust. Math. Soc.* **33** (1986) 37–48.
- [10] D. Taşcı, Gaussian Balancing numbers and Gaussian Lucas-Balancing numbers, *J. Sci. Arts* **44** (2018) 661–666.
- [11] D. Taşcı, Gaussian Padovan and Gaussian Pell-Padovan sequences, *Commun. Fac. Sci. Univ. Ank. Ser. A1. Math. Stat.* **67** (2018) 82–88.
- [12] D. Taşcı, On Gaussian Mersenne numbers, *J. Sci. Arts* **57** (2021) 1021–1028.
- [13] D. Taşcı, F. Yalcin, Complex Fibonacci p -numbers, *Commun. Math. Appl.* **4** (2013) 213–218.